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2. Base your answer to the following question on the diagram
below which represents an electrical circuit. -
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The equivalext resistance of R,, Ry, and R, is
approximately
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3. Ifthe potential drop-across an operating 300.-watt

fisodlight is 120 volts, what is the current through the
floodlight?
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v potential difference 0£2.0 volts?
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5. The diegram below represents & segment of a circuit, What P 16. The reading of asameter 4, i \}
: : i 10. ‘The heating element on an electric stove dissipates 4. O x 1 LA
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6 A lamp and an ammeter are connected to a.source as

shown.
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The circuit represented in the d:agram above is a series 19. Ifathird resistor were connected in parallel to this circuit,
cizeuit. The electrical energy expended in resistor R i2.2.0 the potential difference across the third resistor would be
- seconds is W 20V . GOV
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12. An electron-volt is a unit of \} \‘) “\J I~ \]3':‘”‘
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What is the electrical energy expended in the lamp in 3.0 () charge
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(4) more resistance and draws less current
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Base vour answers to questions 20 th‘ough 23 on the diagram -~

;beluw which shows 3 resistors connected to a 15-volt source. . 2, TR TG WEB\STANCE 5 5) v _ =
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23. If resistor Ry is removed and replaced by a resistor of lower . =
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